ol
NS
olJ

HYoR §

s

A —6x*+3x—1° ™o

&

o

1.

2 6x2, 3x, 1 o|th.

—~
__OO

o] 4= 3 ol

34

@ o

@ 3x o] A= 3 ol




2. (4x-6)+2 S AXsHHE?

®2x—3 @ 2x+3 ® 3x-2




38,

09

>

%(45x —15y) = (9y - 6x) = (_%)

) 1
= (45x = 15y) = (9y = 6x)+ (‘5)
= 9x =3y = (9y - 6x) x (=3)
= 9x =3y + 27y — 18
—-9x + 24y

x ] A -9,y & At 24 0]

ot

ACH




@D —x2
x4+ 2 ® Z+4 @4x—6

© —x2 > ol7H4]
1
@ - - x 7} 2RO Yenz URHo] ohic,

@0-x - x o 0 ] FaAA A7} gloiAek
TS LY |




H7]
@ »? © 3x
© 0xx+2 ® 2x-7
@ng—x—Q ® 5x*+2x+1
® © ®o. e
® 6 e @ 0O,06,6

®9,0,6,8.0,®

@ : oA
©3x: U

® 5x? 4+ 2x+ 1 : ©]AH4]




@ (—4x+8) = (-4) = x -2
@ (9x+3)+3=3x+1




© 5x+3-5x © 2x+7

©) ONG) ® 6,6,




(@)—12(% 1) = -2y—12

B

@ 16y? + (-4) = 12y?

@ (10x-15)+5=>5x-10

D 2 x 3x2 = 6x2

@ 16y? + (-4) = 16y? x (—i) = -4y

1
® 20 +§:20y><2:40y

® -12 (g+1) — 9y_12

2

1
@ (10x-15) =5 = g(10x—15) =2x-3




